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Comprehension #1 (Q. No. 1 to 2)

tan A £ tan B
tan(A+B)= fanAztan®t
lx¥tanAtanB
tan A +tan B + tan C —tan A tan Btan C

1—(tan Atan B+ tanBtanC + tanCtan A)

tan(A+B+C) =

By the use of standard formulae above, answer the following question.

1. If tanA and tanB are roots of x* — px + q = 0 (p*> > 4q) then

(A) tan(A + B) = —— (B) tan(A + B) = ——

1-q 1+q
2 2
p”—4q p"—4q

(C) tan(A —B) = 1+q (D) tan(A —B) = l+q
2. The value of tan3A —tan2 A — tanA is equal to

(A)tan3A tan2A tanA (B)—tan3A tan2 A tanA

(C) tanA tan2A —tan2A tan3A — tan3A tanA (D) None of these

Comprehension-2 (Q. No. 3 to 5)

sin2A = 2tan2A
l+tan" A

2
cos2A:w
1+tan” A
tan2A = 2104
1-tan” A

By the use of standard formulae above, answer the following question.

7 X
3. If cosx + sinx = 5 then product of all possible values of cot 5 is equal to
(A)2 (B) 4 ©6 (D)8
4. If 2cosx + sinx = 1, then the sum of all possible value of 7cosx + 6sinx is equal to

(A)2 (B)4 ©)6 (D)8



10.

n

o 3 Sn ? .
The value of | tan % + tan T + tang + tan Te) equal to

(A)32+16 2 (B) 16+ 16 2 (C)32+32 2 (D)32 V2 16

Number of integral solutions of the equation log_, (logzxz_ZH3 (x2 + 2x)) =0

A4 (B)2 O1 D)0
Solve — [x=3 >
X —5x+6
Solve the following—
(a) log, x < logfﬁ (b) log, . E <log,,2

BN L | | ENEE S l+@}
The sum of | 5 %15 2000 || 2 " 2000 7| 2 2000 | 22000
where [.] denotes the greatest integer function, is equal to :

(A) 1000 (RY0QQ9 (Y1001 (M 1007

10. Let N = (2 + )22+ 1)(2* + 1) ... (22 + 1) + 1 and N = 2* then the value of  is
(A) 63 (B) 64 (C) 65 (D) 66
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ANSWER KEY OF DPP NO. : 05

(AC)y 2. (A) 3. (C) 4. (D) 5. (A) 6. (D)

xel 2,2 8. (a)(0, 172] U (2.4]  (b)(~16/3,-3) 9. (A)  10. (B)




